AV [=Ub N o B
EE

QlsiA ZK/ QA

IR HA . QA ZEQ} QIHA B 8

EH 22110.
NE MHH
Qx| Halg ol

MME o e me
o AL 2], SMRE 2z
A 5 SES

The thread is matched to the mounting blocks
for index bolts and index plungers, die-cast
(EH 22110.) and mounting blocks for index
bolts and index plungers (EH 22120.).

FIME
- OIRE E58, ClO|-FHAE, QIEA ZEX|Qt
olgia 25 g
- Dl2Y 85, oA gE0 QlHA ZAK
2
=L
l2
L4
ls
/ V.
- — «| .«
ko) T— = 9| ©
L
I3
FE 3e
= AEEE | WS i
d, d; d, dy I I I Iy Is
+0,1 -0,05 +0,5
[mm] [mm] [mm] [g]
AEl
M12x 1,5 4,2 24 12 10 16 1 5 1,5 4 4 17 22110.0464
M12x 1,5 52 24 12 10 16 1 5 1,5 5 4 17 22110.0465
M12x 1,5 6,2 24 12 10 16 1 5 1,5 6 4 16 22110.0466
M16 x 1,5 8,2 32 16 12 20 13 7 1,5 8 6 36 22110.0468
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0470
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0472
AH|QI2|A AE]
M12x 1,5 4,2 24 12 10 16 1 5 15 4 4 17 22110.0474
M12x 1,5 5,2 24 12 10 16 11 5 1,5 5 4 17 22110.0475
M12x 1,5 6,2 24 12 10 16 1 5 1,5 6 4 16 22110.0476
M16 x 1,5 8,2 32 16 12 20 13 7 15 8 6 36 22110.0478
M16 x 1,5 10,2 32 16 12 20 13 7 1,5 10 6 34 22110.0480
M16 x 1,5 12,2 32 16 12 20 13 7 1,5 12 6 33 22110.0482

HO|x[1~2]2
EEHALDER JHAl: 10.8.2024


http://halder.com/kr/22110.0464
http://halder.com/kr/22110.0465
http://halder.com/kr/22110.0466
http://halder.com/kr/22110.0468
http://halder.com/kr/22110.0470
http://halder.com/kr/22110.0472
http://halder.com/kr/22110.0474
http://halder.com/kr/22110.0475
http://halder.com/kr/22110.0476
http://halder.com/kr/22110.0478
http://halder.com/kr/22110.0480
http://halder.com/kr/22110.0482

HE of

-
Kl

R0

|2

~0
JHAl: 10.8.2024

Ho|X| 2

NHALDER



